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% — FE KB |% 27.7ha 6/10LLF 4/10LLF 1. Om — 10m 8.1% %9  27.7ha
¥ B A
i #) 27.70ha 8. 1% %  27.7ha
¥ M AR B |%  32.2ha|l  6/10BAF 4/10LAF 1. Om - 10m 9.5% % 32.2ha
Eﬁﬁmﬂﬁ
N % 32.2ha 9.5% % 32.2ha
—FMEH & |%  35.4hal 20/10LLF 6/100LTF — — — 10.4% %)  38.8ha
E%%%mﬁ
Nk % 35.4ha 10. 4% % 38.8ha
FE_mPEE | 20 7Tha|l 20/10LLF 6/10LL°F — — — 6.1% % 22.9ha
EE%%%W
NGk ¥ 20.7Tha 6.1% % 22.9ha
5 — & |%  16.7ha| 20/10CL°F 6/10LLF — — — 4.9% % 11. lha
S - R
N B %) 16.7ha 4.9% %  11.1ha
£ - & |%  51.1ha| 20/100L°F 6/10LL T — — — 15.0% % 51. 1ha
(ECH =< R 71
N % 51.1ha 15.0% %  51. lha
¥ FE I | Oha — — — — — 0% #: Oha
AN # Oha 0% %9 Oha
SENESRE S = B Oha — — — — — 0% %9 Oha
G g Oha S Oha
FEEPGEMIR (% 26.4ha| 20/100LF 8/10LLF — — — 7.8% %1 26.4ha
NF % 26.4ha 7.8% #  26.4ha
Pi % M O |% 11.9hal 40/10LLF 8/10LLF — — — 3.5% % 11.9ha
NF % 11.9ha 3.5% #  11.9ha
e 2 ML BE (%9 72.2hal| 20/10BLF 6/10LLF — — — 21.3% % 72.2ha
N EF ¥ 72.2ha 21.3% % 72.2ha
T % M 8 (% 45.5ha| 20/108L°F 6/10LLF — — — 13.4% %  45.5ha
N % 45.5ha 13.4% %  45. 5ha
T¥EHAME [ Oha — — — — — 0% #9 Oha
N # Oha 0% %9 Oha
& #  339.8ha 100. 0%| #J  339. 8ha
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